Ubung am Becker Tyler
4860 + 953 = 1270 + 529 = 8470 + 649 =
3320 + 417 = 1430 + 798 = 5360 + 759 =
3740 + 874 = 110 + 242 = 790 + 341 =

440 + 738 = 8670 + 231 = 970 + 663 =
690 + 392 = 8830 + 558 = 8810 + 541 =
6690 + 638 = 2240 + 645 = 7540 + 996 =
470 + 344 = 6150 + 299 = 6120 + 312 =
3620 + 192 = 8480 + 932 = 5680 + 141 =
9390 + 845 = 1470 + 113 = 650 + 639 =
8420 + 342 = 6330 + 834 = 6470 + 213 =

Kontrollabschnitt

4860 +953 =5813 # 1270 +529 =1799 8470 +649 =9119
3320 +417 =3737 # 1430 +798 =2228 5360 + 759 =6119
3740 + 874 =4614 # 110 +242 =352 790 +341 =1131
440 +738 =1178 # 8670 +231 =8901 970 +663 =1633
690 +392 =1082 # 8830 + 558 =9388 8810 +541 =9351
6690 + 638 =7328 # 2240 + 645 = 2885 7540 +996 =8536
470 +344 =814 # 6150 +299 = 6449 6120 +312 =6432
3620 +192 =3812 # 8480 +932 =9412 5680 + 141 =5821
9390 + 845 =10235 # 1470 +113 =1583 650 +639 =1289

8420 +342 =8762 # 6330 +834 =7164 6470 +213 = 6683



